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SANSKRIT
Paper : SKT-RC/HG-1016

( Basic Sanskrit )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese or
in Sanskrit

UNIT—I

( Grammar and Composition, Part-I /
I HEF T SoT—eq 48 )

( Marks : 30 / JeU15% : 0o )

1. Decline any four of the following : 1x4=4
TS 7l R e Bk et ford -

(a) SF—JquT T
(b) WY—gefl v
(c) TH—xa IgaT
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(2)

(d) wa—f e
(e} STERE—IIHT I
(f) T (elifos)—agdiar o

. Frame sentences with the following words (any
three) : 2x3=6
wore T *RRIEE I o F4 (R e oo :

A’ ; Ao ; T ; G ; W

. Fill in the blanks choosing the correct word from

the brackets (any five) : 1x5=5
TN o1 SfSe *recht fidion FR A SR o7

(R e fisby) -

a) 74y | (weIff / wom:)

b) =y ___ | (wwh [/ @)

) @ ___ (vofa / waIf%)

(d @ __ | (mfy/ =)

(e) W1 ___ 1 (g / &)

( weh ) (Teg / TO)

(g) wF ___ | (R / uR=R)
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(3)

. Correct any five of the following sentences : 1x5=5

worq R e Yot I e i
(2) FET T

(b) Y uEfd

(c) & F=MA

(d)  foafr

(e) ™ TN

(f) T g

(g) T @

. Write the declension of any one of the following
words : 10
wors i R e Bt e et P

a; W‘{l
UNIT—II

( Grammar and Composition, Part-II /
JRIY AT AF Fm—RE 4e )

( Marks : 30 / JoURF : ©o )

. Conjugate any six of the following roots : 1x6=6

woq Rt Al ot N1 ferareicars B -
(a) VO YOI AT
(b) \NF—TT TIIE THAH
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(4)

(c) VF—ONE TINERY TFAH

(d) VG—E IIIRE I

(e) NT—R TR THAT

(0 R IIGH T

(g) NPT TIGE THA

. Join the following Sandhis (any five) :
warg FARPTR Q@ I (R e #iisbt) -
(a) T + q«

(b) fr + =&

(c) e + I

(d) T + afy

(e) T +

(f) '{ff+ﬁ:
(g) T + W™

1x5=5

. Give the resulting forms of the following (any
five) : 1x5=5§
woe AR Woom @Qd TRk Bl (R cen

(a) ¥ + 99
(b) ¥ + Y

{ Continued )

. (S)

(c) T + g
(d) T +
(e) | + FY
(f) AT+ Y
(g) T+ J91

9. Write the passive forms of the following words
(any two) :

TR RIIRI FHBR 7961 Bl (R e go1) -
Tl ; W e ; e

10. Conjugate any one of the following roots in
@ (present), ¥ (past), @< (future) and

2x2=4

(imperative) TR : 10
wre fi R e abt aga =R, g, T A @G
IR R B -
V§ 5 VaI
‘ UNIT—III
( Srimadbhagavadgita / SwesEgae! )
( Marks : 20 / &R : R0 )

11. (a) Write an introductory note on the
Srimadbhagavadgita. 10
‘Sreane’d e)e off RemEe G
sill
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(6)

Or / 9311

(b) Give the qualities of a fRF (beloved
devotee) as described in the Gita,
Chapter XII.

‘Fory @ TyEe ITe @@ Eee
FFPTYR 36 3 |

12. Explain any one of the following verse : 10

o] R} I 61 IR I 90

(2) WA W Y A7 g ST |
oEIT TR ¥ geRemT W@l

(b) 72T T wNed iy g A
faRmf w9 o s 7 @)

* % %
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